
 

 

 

 

 



EXERCISE 10-2 
 
1. Equipment 
2. Equipment 
3. Equipment 
4. Land 
5. Prepaid Insurance 
6. Land Improvements 
7. Land Improvements 
8. Land 
9. Buildings 
 
EXERCISE 10-5 
 
(a) Depreciation cost per unit is $1.40 per mile 
   [($148,000 – $8,000) ÷ 100,000]. 
 

(b)   Computation    End of Year 
            
  

 
Year 

  
Units of 
Activity 

 
 

X 

 
Depreciation 

Cost /Unit 

 
 

= 

Annual 
Depreciation 

Expense 

  
Accumulated 
Depreciation 

  
Book 
Value 

            
 2017 

2018 
2019 
2020 

 26,000 
32,000 
25,000 
17,000 

 $1.40 
 1.40 
 1.40 
 1.40 

 $36,400 
 44,800 
 35,000 
 23,800 

 $ 36,400 
  81,200 
 116,200 
 140,000 

 $111,600 
 66,800 
 31,800 
  8,000 

 
 

EXERCISE 10-6 
 
(a) Straight-line method: 
 

 
 
 
 

$150,000 – $12,000

5
= $27,600 per year. 

 
 2017 depreciation = $27,600 X 3/12 = $6,900. 
 

(b) Units-of-activity method: 



 

 
 
 
 

$150,000 – $12,000

10,000
= $13.80 per hour. 

 
 2017 depreciation = 1,700 hours X $13.80 = $23,460. 
 

(c) Declining-balance method: 
 
 2017 depreciation = $150,000 X 40% X 3/12 = $15,000. 
 Book value January 1, 2018 = $150,000 – $15,000 = $135,000. 
 2018 depreciation = $135,000 X 40% = $54,000. 
EXERCISE 10-7 
 
(a) (1) 2017: ($34,000 – $2,000)/8 = $4,000 
   2018: ($34,000 – $2,000)/8 = $4,000 
 
 (2)  ($34,000 – $2,000)/100,000 = $0.32 per mile 
  2017: 15,000 X $0.32 = $4,800 
  2018: 12,000 X $0.32 = $3,840 
 
 (3)   2017: $34,000 X 25% = $8,500 
   2018: ($34,000 – $8,500) X 25% = $6,375 
 
(b) (1) Depreciation Expense ............................................  4,000 
    Accumulated Depreciation—Equipment ..............   4,000 
 
 (2) Equipment ...............................................................   $34,000 
   Less:  Accumulated Depreciation—Equipment ....       4,000 

$30,000 



EXERCISE 10-9 
 
Jan. 1 Accumulated Depreciation—Equipment .......  62,000 
   Equipment ................................................   62,000 
 
June 30 Depreciation Expense .....................................   4,500 
   Accumulated Depreciation—Equipment 
     ($45,000 X 1/5 X 6/12) ...........................    4,500 
 
 30 Cash .................................................................  14,000 
  Accumulated Depreciation—Equipment 
    ($45,000 X 3/5 = $27,000; $27,000 + $4,500) ....  31,500 
   Gain on Disposal of Plant Assets 
     [$14,000 – ($45,000 – $31,500)] ...........   500 
   Equipment ................................................   45,000 
 
Dec. 31 Depreciation Expense .....................................   5,000 
   Accumulated Depreciation—Equipment 
     [($33,000 – $3,000) X 1/6] .....................   5,000 
 
 31 Loss on Disposal of Plant Assets ..................   8,000 
  Accumulated Depreciation—Equipment 
    [($33,000 – $3,000) X 5/6] ............................  25,000 
   Equipment ................................................   33,000 
 
 

 


